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EXERCISE TEST - 10 [i»&5%j
2 Mark Questions 5X2=10

2+sin x)

. Find the domain of cos™?! (
. Find the value of sin™! (sinS—n cosZ + cos Zsin E).
9 9 9 9
. For what values of x, the inequality
% < cos™1(3x — 1) <  holds?

s cos™(—x) = m — cos™1(x) true? Justify your
answer. L—J
~ For what value of x does sir x = sin~1 x?

5 Mark Questions

- Find the value of cos™* (cos (%n)) + cos™ 1! (

- Find the value of cos (cos‘1 (g) + sin~1 (g))

. Find the domain of

f(x) = sin™* (IxIT—Z) + cos™! (1_T|x|)
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